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Question 1: Zoom to the Future
Figure 1: Revenue of selected consumer electronics for 2018 and 2021

Wi Smartphones PCs £ Tvs
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2018 : 2021
Source: Deloitte Insights, 2021

Extract 1: PC sales have surged for at-home workers and learners during the
pandemic

With millions of workers and students forced to stay home owing to the COVID-19 pandemic,
sales of mobile devices and personal computers shot to their highest level in six years.

“The obvious drivers for last year's growth centered around work from home and remote
learning needs, but the strength of the consumer market should not be overlooked,” IDC vice
president Ryan Reith said in a statement. “We continue to see gaming PCs and monitor
sales at all-time highs, and Chrome-based devices are expanding beyond education into the
consumer market. In retrospect, the pandemic not only fueled PC market demand but also
created opportunities that resulted in a market expansion.”

The pandemic, which has so far killed almost 2 miilion people worldwide, prompted
lockdowns and school closings around the world starting last January. That prompted a
wave of PC buying, from the most expensive laptops to the least expensive Chromebooks.
At the same time, widespread quarantines are slowing the mobile revolution. Instead of
trying to do everything from our phones, we're back at our desks.

Source: Fortune, 12 January 2021
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Table 1: Market Share of Video Conferencing Platforms

2020 2021
Zoom 26.4% 48.7%
Google Meet 8.1% 23.1%
Microsoft Teams 9.7% 14.5%
Skype* 32.4% 6.6%
Slack 17.7% 3.6%
GoToMeetings 3.6% 1.1%

*Skype was acquired by Microsoft Corporation in 2011.

Source: diginomica, 25 August 2021
Extract 2: How Microsoft let Skype lose out to Zoom

Zoom Video Communications Inc., maker of the ubiquitous video conferencing tool that
made a global pandemic less isolating, just reported another quarter of explosive growth.
While its business may not continue to soar quite so much, Zoom is well positioned, appears
to have a loyal fan base and continues to innovate. It has also achieved a rare corporate
feat: It created a product popular enough to become a common verb. To “Zoom” now means
to “chat by video” — in the same way that to “Google” is to search the web. Yet not so long
ago, another product’s name stood for video conferencing: Skype. Launched in 2003, Skype
has been available nine years longer than Zoom and is owned by tech titan Microsoft Corp.,
yet Zoom has effectively left it in its dust.

In 2011, when Microsoft acquired Skype for $8.5 billion (it's third-biggest acquisition after
LinkedIn and Nokia), Zoom had just launched and Skype already had 100 million users. By
2015, it had 300 million users. But Skype's technology isn't well-suited to mobile devices.
When Microsoft set about to address that problem, it gave users further headaches by
redesigning Skype frequently and haphazardly while integrating messaging and video
functions of its video conferencing tool. Eventually, when Microsoft-owned Linked!n said in
September 2020 that it would add a video conferencing feature to direct messages, allowing
users to kick off calls through Microsoft Teams, Skype was left out.

The absence of Skype in the implementation exemplifies the video conferencing service’s
diminishing presence in a year when competitors became more prominent than ever, as the
coronavirus pandemic forced people to connect online. Skype did get a boost from the virus.
In March Microsoft said that Skype had 40 million daily active users, up 70 percent from the
previous month. But even at Microsoft, it's not the star. In April the company said Teams had
amassed 75 million daily active users. Whereas Zoom, which has overcome many security
concerns about its platform, says its total “daily meeting participants” grew during the
pandemic from 10 million to about 350 million.

More recently, Skype has lagged behind its competitors. The Skype iPhone app failed to
make it to the top 200 apps ranked on Apple’s App Store in August and September,
according to data from app-analytics company AppAnnie, while Zoom for iPhone never left
the top 20 and Google Meet was generally in the top 100. Now that Zoom is a leader,
Microsoft is faced with some tough choices, to discontinue Skype and concentrate on
improving the features for Teams, or to redesign Skype.

Adapted from CNBC, 10 October 2020, and Bloomberg, 4 June 2021
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Extract 3: Singapore to have new electronic waste disposal system

According to Singapore’s National Environment Agency, around 60,000 tonnes of electronic
and electrical waste are generated every year in Singapore. Only 6 percent of all e-waste is
recycled while 24 percent is traded-in. The rest is removed by deliverymen or thrown away.

The low percentage of e-waste recycling has been a concern of the Singapore government
as

e-waste is bad for health and the environment. All e-waste contains some amount of
hazardous materials, such as heavy metals like lead and mercury found in electronic goods.
There are also economic gains from recycling e-waste, which contains valuable resources
such as gold, silver, copper and platinum that can be extracted through proper treatment
processes.

To reverse the trend, the Singapore government has been looking to countries like Sweden
and Denmark. These countries recycle 52 percent and 43 percent of their e-waste
respectively and have successfully adopted the Extended Producer Responsibility (EPR)
scheme since the early 1990s.

Under Singapore’s EPR scheme implemented in July 2021, retailers that operate outlets with
a floor space of 300m? or more will set up in-store collection points and offer one-for-one
take-back services for the electrical and electronic products they sell. In addition, firms that
manufacture or import regulated products above the prescribed supply thresholds will also
bear the financial cost of the collection and proper disposal of these products by licensed
recycling firms.

As part of the scheme, outreach programmes will also be organised to raise public
awareness on the environmental costs to responsibly manage e-waste and to promote a

culture of recycling.
Industry experts have expressed cautious optimism about Singapore's EPR scheme.

CleanEnviro Summit Singapore managing director Dalson Chung said: "The critical success
factor will be the behavioural change of our people that will be doing the recycling, because
taking out e-waste and putting it into a recycling bin is not a traditional habit."

Professor Seeram Ramakrishna, chair of the NUS Circular Economy Taskforce, also warned
that the success of this scheme could be stifled by attempts to "game the system”. He said
producers can raise their waste collection targets through many innovative and creative
ways, but the waste may end up not being recycled and upcycled properly.

Adapted from research@SMU, 5 August 2021 and
The Straits Times, 11 February 2021 & 25 March 2022
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Questions

(a) (i) With reference to Figure 1, compare the changes in sales revenue of
smartphones and PCs between 2018 and 2021.

(ii) Explain a possible reason for your observations in (a)(i).
(b) (i) Explain the likely market structure of video conferencing platforms.

(ii) Now that Zoom is a leader, Microsoft is faced with some tough choices.
(Extract 2)

Discuss the factors that Microsoft would consider before deciding whether
they should discontinue their Skype services.

(c) Explain how the recycling of e-waste can help to address the problem of
scarcity.

(d) (i) Withthe use of a diagram, explain how the consumption and improper
disposal of electronic devices is likely to affect Singapore’s social welfare.

(ii) Explain how the measures under the Extended Producer Responsibility
(EPR) scheme mentioned in Extract 3 can be implemented to improve
societal welfare in Singapore and assess how likely it is to be successful.

2]
[2]
[2]

(8]

2]

[4]

[10]

[Total: 30]
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Question 2: COVID-19 Pandemic and Its Impacts on Advanced Economies
Extract 4: Resilience Index 2020: Global resilience put to the pandemic test

Resilience Index takes into account fiscal space, financial market development, human
capital, economic complexity, labour market efficiency, income inequality index and others.
Global macroeconomic resilience was stable in 2019, but the world economy was less
resilient going into the COVID-19 crisis. We forecast a drop of about 20% in global resilience
in 2020 as a result of the pandemic, as stimulus packages deplete economies’ fiscal budget.
We expect COVID-19 to widen health and mortality protection gaps globally as households
grapple with lower incomes, leading to higher healthcare costs and greater mortality.
Switzerland has proven resilient to the COVID-19 crisis thanks to a diversified economy with
relatively low reliance on hospitality and entertainment and with significant fiscal space to
support households and firms. Finland’s economy seems to stabilise despite the pandemic
due to the high savings rate and consumer confidence creating conditions for rapid growth in
private consumption.

Source: Swiss Re Institute, 2020

Table 2: Selected Countries Resilience Index

Country 2019 Resilience Index 2020 Resilience Index
Canada 0.81 0.70
Finland 0.80 0.67
Norway 0.76 0.65
Sweden 0.98 0.68
Switzerland 0.84 0.80
UK 0.74 0.41
US 0.80 0.58

Source: Swiss Re Institute, 2020
Extract 5: How the pandemic has changed the world economy

If the economy is growing, that generally means more wealth and more new jobs. it is
measured by looking at the percentage change in gross domestic product. The IMF
estimates that the global economy shrunk by 4.4% in 2020. The organisation described the
decline as the worst since the Great Depression of the 1930s. The IMF is, however,
predicting global growth of 5.2% in 2021. That will be driven primarily by countries such as
India and China, forecast to grow by 8.8% and 8.2% respectively. Recovery in big,
services-reliant, economies that have been hit hard by the outbreak, such as the UK or ltaly,
is expected to be slow. The travel industry in UK has been badly damaged, with airlines
cutting flights and customers cancelling business trips and holidays. New variants of the
virus - discovered only in recent months - have forced many countries to introduce tighter
travel restrictions. The hospitality sector has been hit hard, with millions of jobs and many
companies bankrupt. Data from Transparent - an industry-leading intelligence company that
covers over 35 million hotel and rental listings worldwide - has registered a fall in
reservations in all the top travel destinations. The number of people entering retail malls has
seen unprecedented falls as shoppers stayed at home. New variants and surges in cases
have made problems worse. Separate research suggests that consumers are still feeling
anxious about their return to stores. Accountancy giant Ernst & Young says 67% customers
are now not willing to travel more than 5 kilometres for shopping.

Source: BBC, January 2021
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Extract 6: Covid-19 impairs 2020 growth in Nordic economies

The Danish economy has been materially weakened by the 2020 crisis as capital spending
and consumption have regressed, with investment sentiment and consumer confidence
having seen significant deteriorations — before improving since May as the economy
re-opened. In addition, the Danish economy has been impaired by the coronavirus shock
because trade, travel and tourism (accounting for about 17% of GDP) have been restricted,
with Denmark being the only Nordic country that is a net exporter in this sector. However,
several core Danish industries, such as pharmaceuticals, agriculture and wind turbine
manufacturing, are not strongly cyclical, so exports will decline less in these industries in
2020. Denmark has, in addition, benefitted this year from lesser dependence on global value
chains compared with its Nordic peers. Unemployment rose but the government is
proactively supporting the private sector by temporarily paying up to 90% of employee
salaries.

Danmarks Nationalbank has taken action to defend the fixed exchange rate against the
euro. Even before the coronavirus crisis, the Danish krone underwent pressure driven by
capital outflows as domestic savers sought investments abroad, incentivised by negative
domestic deposit rates. Whereas the majority of central banks around the world have cut
interest rates during this crisis to provide significant liquidity assistance, the Danish central
bank instead increased its key interest rate in March to safeguard the krone.

In March, the central bank bought Danish krone to defend the currency. Although these
actions have been effective in protecting the peg to the euro the lack of an independent
monetary policy has restricted the government response this crisis.

Due to Denmark’s strong fiscal fundamentals entering this crisis, the government is able to
run a wide 2020 public deficit without endangering debt sustainability. Additionally, the
government has detailed 12.8% of GDP in loans and guarantees. We expect the
government debt-to GDP ratio to increase from 33.2% in 2019 to a still moderate 42.5% in
2020.

Rising debt in Finland during the 2020 crisis requires consolidation steps post-crisis to
stabilise and reverse debt trajectory. Economic contraction, government stimulus and
economic weaknesses that predate the pandemic are elevating government debt in Finland
and could present risks to long-run creditworthiness if a swift response to stabilise the debt
trajectory is not acted upon. In the two years before 2020’s crisis, real growth in Finland was
slowing and output shrank in the last quarter of 2019. This year's unprecedented shock to
domestic and foreign demand is exacerbating the structural challenges that Finland faces.
The pandemic will impact exports as well as private consumption, with the latter having been
a key driver of economic growth in recent years. Finland exports predominantly investment
products, demand for which has been severely impaired.

Source: Scope Ratings, June 2020
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Extract 7: Britain is suffering her worst peacetime downturn ever

Britain is in the midst of its deepest downtumn in peacetime as the coronavirus pandemic
wreaks havoc on the economy, while an expected recovery in the second half is already in
jeopardy. “The coronavirus crisis is delivering an unprecedented hit to GDP that the
economy will take many years to recover from,” said Paul Dales at Capital Economics.

“The pace of the recovery will be muted by demand constraints as consumers and firms will
not come unscathed out of these lockdowns,” said Stefan Koopman at Rabobank. Prime
Minister Boris Johnson promised to shake Britain’s economy out of its coronavirus-induced
crisis by fast-tracking plans to speed up government infrastructure spending. “We will build
the hospitals, build the schools, the colleges,” he said. The centrepiece of the British
government's plans to protect the economy is its pledge to pay 80% of wages if staff are put
on leave rather than let go. For its part, the Bank of England slashed Bank Rate to a record
low of 0.10%, restarted its quantitative-easing programme and agreed to temporarily lend
the government money if needed to help finance its massive COVID-19 spending plans.

“The Bank of England (BOE) has made the government’s transaction account limitless until
(so far) the end of the year, which means that the UK government can — literally — print its
own money without first issuing debt and then wait for the central bank to buy it in the
secondary market,” said Erik Nielsen at UniCredit. But despite the huge amounts of fiscal
and monetary stimulus, the Bank’s chief economist, Andy Haldane, warned on Tuesday the
economy was not certain to recover rapidly once coronavirus restrictions were lifted,
because people may be reluctant to spend or socialise as they did before. However as
inflation rates are forecasted to rise, BOE may start to raise interest rates which was at an
all-time low during the pandemic.

Source: Reuters, April 2020

Questions
(@) With reference to Extract 4 and Table 2:

(i) Identify one country that is the most resilient in 2020 despite being hit by

the coronavirus pandemic and give a possible reason why. [2]
(i) Explain the effect of a change in Resilience Index on material living
standards from 2019 to 2020. [3]
(b) Using a production possibility curve diagram, explain the impact of the
pandemic on UK’s economic growth. {3]
(c) With reference to Extract 6, explain how the “Danish krone underwent
pressure” before the coronavirus crisis. [4]
(d) Discuss whether Finland or Denmark will be harder hit by the pandemic. [8}
(e) Discuss whether UK should adopt fiscal or monetary measures to
respond to the economic downturn caused by the COVID-19 pandemic. [10]
[Total: 30]
*** The End ***
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Answer three questions in total.
Section A

One or two of your three chosen questions must be from this section.

1 Rising unemployment rates and job uncertainty have influenced consumers’
buying patterns towards economic and affordable products. Subsequently,
the overall portfolio in smartphones is moving toward low-to-mid end
devices. Be prepared to pay higher prices for smartphones, tablets, or PCs.
A report by Nikkei Asia claims that chipmakers are marking up their
production costs due to the ongoing global component shortage.

Source: telecoms.com: 28th September 2020

(@) Using income elasticity of demand, explain how a recession might
affect the revenue earned by sellers of different types of smartphones
in Singapore. [10]

(b) Discuss the likely combined impact of the abovementioned changes
on the price and quantity of different types of smartphones in [15]
Singapore.

2 Established carmakers around the world are ripping up their business
models in the hope of adapting to a new world in which electricity replaces
gasoline and diesel. Factories are being overhauled to produce electric
cars, and automakers are snapping up every battery they can find. The high
cost of developing electric cars is forcing some companies to find partners
and turning others into acquisition targets.

Source: CNN August 2019

(@) Explain how the market structure in which established car makers
operate is likely to influence how prices are determined. [10]

(b) With the increasing competition from the established car makers,

discuss the strategies that the electric car makers can adopt to
increase their profitability. 5]

3 (a) Explain why imperfect information and labour immobility may lead to
market failure. [10]

(b) Discuss the policies governments can adopt to correct these causes
of market failure. [15]
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Section B

One or two of your three chosen questions must be from this section.

4 The Covid pandemic has caused radical change in the labour market as
more people work from home, shifting new job demands from semi-skilled
jobs in retail, catering and cleaning, to jobs that require workers’
proficiency in digital skills.

(@) Explain how the pandemic has hindered the government’s goal to
achieve inclusive economic growth. [10]

(b) Discuss the measures a government can adopt to achieve inclusive
economic growth in view of the structural change brought about by
the Covid pandemic. [15]

5 The world was worrying about recession one year ago and governments
were quick to adopt measures to revive their economy. But now, inflation
has taken center stage on government’s agenda.

(a) Explain why governments are concerned with inflation. [10]
(b) Discuss the extent to which government’s policy to tackle recession
is to be blamed for causing inflation. [15]
6 Most economies in the world are suffering from budget deficits and

balance of trade deficits for the past two years due to domestic and
external challenges.

(a) Explain the relationship between a balance of trade deficit and a

budget deficit. [10]
(b) Discuss whether policies adopted by a government to reduce the
balance of trade deficit would worsen the budget deficit. [15]
** The End ***
4
JC2 H2 Economics 9757/02

More papers available at www.testpapersfree.com



BP~447

“squeldag pue jsnbny u ai0)g ddy ssiddy uo padues sdde oz doj ey o} § ayew
0} pajle} dde auoyd) adAyg sy} "sioyjedwios sy puiyaq pabbe; sey adAyg ‘Apusoal aiop

"uoljjjw QGE IN0ge 0} Uoljiw Q| Wouy onuspued
ay) Buunp maib sjuedioped Bunesw Apep, (e} sy sAes ‘uopeld s) Jnoge SUIEIUOI
Alunoas Auew SWOoIBA0 SBY YOIYM ‘W07 SBAIBUAA 'SIBSN aAloe Ajlep uojjul G/ passeiwe
pey swea| pies Auedwod ay) judy u| Je)s sy} Jou S} ‘YOSl Je UaAs Jng ‘yyuow snomaad
oy} woyj yuaosad g4 dn ‘siasn aaloe Ajlep uoyji Oy pey 2dANS jey; pres Yosoudl yodel uj
*STUIA 8Y) woY }s00q & )36 pip ad/yg “suljuo Josuuos o} ajdoad peaio} olwspued sniABUOI00
ay} se I8A9 uey) Jusuiwoid alzow swesaq siojjaduuod usym Jeak e uj aouasald Bujysiupwp
s,901M9s Bupuaisjuos ospia ay) saylidwexe uonejuawsidwi ey} ul adAyg j0 asuasqe ayl

‘Jno Ya| sem adAyg ‘swea] Yosoioly ybnoiyl sjieo 4o xopj o} siesn
Buimoyje ‘sebessaiu Joauip 0} eines) BulouBIBJLOD OIPIA B PPE PINOM } Jey) 0Z0Z Jequsides
W PIES U|pajyul PauUMO-YJOsOIolpy uaym ‘Alenjusa] °|oo} Buioualajuoooapia ) JO SUOROUNY
oepin pue BuiBessew Bupgeifayu aym Apiezeydey pue Ajuenbey odAyg Buiubisepal
Aq seyoepesy saypny siesn aneb ) ‘wajqosd jey) ssaippe 0} Jnoge }9S YOSOIoN USUM
"S80IASp B|iqoul 0} payns-jjem Lus! ABojouyde) s,adAyg Ing "siesn uojiiw O0E PeY 3 ‘GL0Z
Ag 'ssasn uoliw 00} pey Apessje adfyqg pue payoune} }snf pey wooz ‘(EPON pue ujpsyull
Jaye uowisinboe )sabbig-paiyy sy uoliq g'g$ 1o} adiyg painboe Yososouy usym ‘LL0Z Ui

Jsnp s) Ul Yo Ajaapoeye sey wooz jok
*d10D Yoso.olpy uely yose) Ag paumo si pue wooz uely 1ebuot sieak auju sjgejieAe usaq sey
adAYS ‘£00Z W payoune] -adAyg :BujousiauoooapiA 1o} pools sweu s onpoud sayjoue ‘obe
Buoj os Jou J9A "qem ay} yoieas o} si 9|6009), 0} JeYy} Aem awes By} u} — ,08pIA A Jeyo, 0}
SUBAL MOU WI00Z, O] "048A UOWIWOD B 8L023q 0} ybnous sejndod jonpoid e pajesio ) ;jes;
9je0di00 asel B paAsiyor OS|e SBY )} "9JBAOUU] O} SBNUNUOY pue aseq ue} [eAo| B aABY O}
sieadde ‘pauogisod [[am S| WooZ ‘yanw os ajinb Jeos 0} SNURUOT Jou ABLU SSBUISNG SY JUM
‘moub anisoldxa Jo Jepenb usyjoue papodal isnf ‘Bune|os) sse| ojwepued feqojb e epew
ey} (00} Bupuaiajuod oapia snojnbign sy} JO Jaxew “Ou| SUOREJIUNWLLICD O6PIA w007

WwooZ 0} Jn0 3s0] ad/AS 18] YOSOIO|W MOH :Z JorNX3]

1202 1snbny Gz ‘esjwoutfip :e0inog
*L10g ul uonelodio) yosaslpy Aq pasnboe sem adljg,

%171 %9'€ sBupoesyol 09
%9'€ %l'LL »oejs
%9°9 %¥ce 2dAig

%S'¥1 %16 swiea| YosoIoN

%L'€2 %18 199\ 8|boon

%L8Y %¥ 92 wooz
1202 114114

suopeld Buousiajuos 0apIA JO lRyS JONRY | e|qel

1Z0Z Atenuer Z| ‘aunyod :8oInos

*S)S8P JNO Je yorq aJ,.9M ‘sauoyd ino woy Buiyilions op o) Buiily
JO peajsu| "uohn|oAa) ajiqow ay} Bumols ale ssujuelenb peaidsepim ‘aw awes ay) v
S)H0oogawoIy) aAjsuadxe Jsea| ay) o) sdojde] saisuadxa jsow ay) woy ‘BuiAng Od Jo aAem
e pejdwoid jeyt Auenuep jsei Supiels puom ay) punose sBuisod Jooyss pue sUMOPYO0|
paydwoid ‘spmppom aidoad uoypw g jsowe psjpy Jej os sey yoym ‘opuepued sy

L uoisuedxa Joxiew e ul paynsal yey) sagjunpoddo pajeaso
0S[E Jnq pUBWSP Josew Dd pajen; Aluo jou ojwepued ey ‘Joadsonsl U} "jadIEW JBWINSUOD
8y} ojul uoneonps puoiaq Buipuedxa ale sediasp paseg-awoiyD pue ‘sybiy awy-jje Je safes
Jojuow pue sod Buiweb ses 0} anuRU0d BN, ‘JUBWS)EIS B Ul PlES Yoy ueAy juspisesd
991A D) ,'PAYCOUSAC 3G JOU PINOYS JexyEW JSWNSUOD By} JO YiBud.js ay) Ing ‘spesu Bujuiesy
SJOWS puUB SLIOY WIOJ MIOM PUNOJE PaIojuad Ymoib sJeak Jse| Joj SISAUP SNOAge Y],

‘sseak Xis L) 193] 1s8yBIY 43y} 0} Joys siandwioo |euosiad pue SaolAep B)IGOW JO Safes
‘onuepued §L-QIAOD @U} 0} BUMO awoy AE)S 0} PEDIO SJUBPNIS PUE SISHIOM JO SUOHIW YIM

ajwspued
ay} Buunp sisuies) pue siojiom dwoy-je 10) pabins aaey sojes od ) joeHX]
1202 ‘swybisu) spiojeq :evinog

(4,74 ; 8102

g9zsssn

8022$5N §\§

85€14sn

azeagsn

2 gocissn

a908$sn
aLgsssn

sALEY s0d@ sauoyduewsill
1Z0Z pue g0z 10} SIU0I)IT[D JBUINSUOD PBJIIISS JO SNUDAIY (| 0._=m_n_

aInjnd ay) 0} WooZ :| uopsany

L B89 | 4eded 10} ssemsuy paysebbng swijeid suodg zH Zor 2202

More papers available at www.testpapersfree.com




BP-448

according to data from app-analytics company AppAnnie, while Zoom for iPhone never left
the top 20 and Google Meet was generally in the top 100.

Now that Zoom is a leader, Microsoft is faced with some tough choices, to discontinue Skype
and concentrate on improving the features for Teams, or to redesign Skype.

Adapted from CNBC, 10 October 2020, and Bloomberg, 4 June 2021
Extract 3: Singapore to have new electronic waste disposal system

According to Singapore’s National Environment Agency, around 60,000 tonnes of electronic
and electrical waste are generated every year in Singapore. Only 6 percent of all e-waste is
recycled while 24 percent is traded-in. The rest is removed by deliverymen or thrown away.

The low percentage of e-waste recycling has been a concern of the Singapore government
as

e-waste is bad for health and the environment. All e-waste contains some amount of
hazardous materials, such as heavy metals like lead and mercury found in electronic goods.
There are also economic gains from recycling e-waste, which contains valuable resources
such as gold, silver, copper and platinum that can be extracted through proper treatment
processes.

To reverse the trend, the Singapore government has been looking to countries like Sweden
and Denmark. These countries recycle 52 percent and 43 percent of their e-waste
respectively and have successfully adopted the Extended Producer Responsibility (EPR)
scheme since the early 1990s.

Under Singapore's EPR scheme implemented in July 2021, retailers that operate outlets with
a floor space of 300m? or more will set up in-store collection points and offer one-for-one
take-back services for the electrical and electronic products they sell. In addition, firms that
manufacture or import regulated products above the prescribed supply thresholds will also
bear the financial cost of the collection and proper disposal of these products by licensed
recycling firms.

As part of the scheme, outreach programmes will also be organised to raise public
awareness on the environmental costs to responsibly manage e-waste and to promote a
culture of recycling.

Industry experts have expressed cautious optimism about Singapore's EPR scheme.

CleanEnviro Summit Singapore managing director Dalson Chung said: "The critical success
factor will be the behavioural change of our people that will be doing the recycling, because
taking out e-waste and putting it into a recycling binis nota traditional habit."

Professor Seeram Ramakrishna, chair of the NUS Circular Economy Taskforce, also wamed
that the success of this scheme could be stifled by attempts to "game the system". He said
producers can raise their waste collection targets through many innovative and creative
ways, but the waste may end up not being recycled and upcycled properly.

Adapted from research@SMU, 5 August 2021 and
The Straits Times, 11 February 2021 & 25 March 2022

Questions

(a) (i) With reference to Figure 1, compare the changes in sales revenue of
smartphones and PCs between 2018 and 2021. [2]
(i) Explain a possible reason for your observations in (a)(i). 2]

(b) | (i) Explain the likely market structure of video conferencing platforms. [2]
Now that Zoom is a leader, Microsoft is faced with some tough choices.
(Extract 2)
(ii) Discuss the factors that Microsoft would consider before deciding whether
they should discontinue their Skype services. i8]

(c) Explain how the recycling of e-waste can help to address the problem of | [2]
scarcity.

(d) (i) With the use of a diagram, explain how the consumption and improper
disposal of electronic devices is likely to affect Singapore’s social welfare. {4}
(i) Explain how the measures under the Extended Producer Responsibility
(EPR) scheme mentioned in Extract 3 can be implemented to improve societal
welfare in Singapore and assess how likely it is to be successful. [10]

[Total: 30]
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to consolidate their resources and come up with new and better ways to
compete with their closest rivals in order to stay in the game.

Mark Scheme

L2 |e Answer is relevant to question requirements and covers | 46
sufficient breadth:

o Discuss various factors in the decision-making process by
Microsoft (e.g. benefits, costs, constraints, etc), with priority
given to benefits and costs of the decision

e Answer has sufficient depth:

o Rigorous and detailed economic analysis of the factors
affecting the decision making

o relevant and precise use of economic concepts

o relevant and clearly-labelled diagrams (i.e. cost-revenue
graphs) where appropriate to support economic analysis

e Answer is relevant to the context of the question and applies
contextual evidences to support the analysis.

L1 | e Answeris mostly irrelevant to question requirements. 1-3

Answer is mostly relevant to question requirements but

underdeveloped or lack economic analysis.

Economic concepts are largely irrelevant and/or inaccurate.

Unclear and/or inaccurate economic analysis.

Lacking in use of diagrams or wrong diagrams are used.

Attempts to address the context of the question but lacks

contextual evidence.

e No diagrams or relevant diagrams are used but might not be
accurately explained or applied to support economic analysis.

E Takes a clear, overall relevant stand that is comprehensively 2

substantiated by
e providing convincing evaluative comments on most of the points

covered in the body paragraphs that explicitly address the
evaluative requirement(s) of the question.

e providing convincing explanation on the relative importance of
most of the points covered in the body paragraphs in forming the 1
stand and providing insightful opinion(s).

Make a relevant overall stand: Which is the most important /
significant factor in Microsoft's decision on whether to discontinue their
Skype services.

satisfied [1] alleviating scarcity.

(d)

(i) With the use of a diagram, explain how the consumption and improper
disposal of electronic devices is likely to affect Singapore’s social welfare.

e Determine market output where MPB=MPC [1]

e Consumption and improper disposal of electronic devices generates

e-waste leading to external costs — results in environmental harm (e.g.

greenhouse effects) and affects heaith of those living near e-waste disposal

plants, causing them incur higher medical costs without being compensated

]

Determine socially optimal output where MSB=MSC {1}

e Societal welfare not maximised due to overconsumption of electronic
devices leading to deadweight loss {1]

I’ T—
Plrewee
4

Qlyol dectronic:
Oicns conmmed

14

(©

Explain how the recycling of e-waste can help to address the problem of
scarcity.

¢ Recycling of e-waste can increase the quantity of limited resources (e.g.

Extract 3: gold, silver, copper and platinum) [1] — more wants can be

2]

(i) Explain how the measures under the Extended Producer Responsibility
(EPR) scheme mentioned in Extract 3 can be implemented to improve societal
welfare in Singapore and assess how likely it is to be successful.

Introduction

e As seen in {d)(i), consumption of electronic devices will generate e-waste
leading to external costs.
e Societal welfare can be improved by:
o addressing the problem of overconsumption of electronic devices
o reducing the external cost generated from e-waste

Body
Measure 1: Collection points at large retail outlets

e Mandating large retail outlets to collect and recycle e-waste will reduce the
likelihood of environmental harm through the discharge of hazardous

110]
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2022 JC2 H2 Econs Prelims Suggested Answers for Paper 1 CSQ 2

Question 2: COVID-19 Pandemic and lts Impacts on Advanced Economies
Extract 4: Resilience Index 2020: Global resilience put to the pandemic test

Resilience Index takes into account fiscal space, financial market development, human
capital, economic complexity, labour market efficiency, income inequality index and others.
Global macroeconomic resilience was stabie in 2019, but the world economy was less
resilient going into the COVID-19 crisis. We forecast a drop of about 20% in global resilience
in 2020 as a result of the pandemic, as stimulus packages deplete economies' fiscal budget.
We expect COVID-19 to widen health and mortality protection gaps globally as households
grapple with lower incomes, leading to higher healthcare costs and greater mortality.
Switzerland has proven resilient to the COVID-19 crisis thanks to a diversified economy with
relatively low reliance on hospitality and entertainment and with significant fiscal space to
support households and firms. Finland’s economy seems to stabilise despite the pandemic
due to the high savings rate and consumer confidence creating conditions for rapid growth in
private consumption.

Source: Swiss Re Institute, 2020

Table 2: Selected Countries Resilience Index

Country 2019 Resilience Index 2020 Resilience Index
Canada 0.81 0.70
Finland 0.80 0.67
Norway 0.76 0.65
Sweden 0.98 0.68
Switzerland 0.84 0.80
UK 0.74 0.41
us 0.80 0.58

Source: Swiss Re Institute, 2020
Extract 5: How the pandemic has changed the world economy

If the economy is growing, that generally means more wealth and more new jobs. it is
measured by looking at the percentage change in gross domestic product. The IMF
estimates that the global economy shrunk by 4.4% in 2020. The organisation described the
decline as the worst since the Great Depression of the 1930s. The IMF is, however,
predicting global growth of 5.2% in 2021. That will be driven primarily by countries such as
India and China, forecast to grow by 8.8% and 8.2% respectively. Recovery in big,
services-reliant, economies that have been hit hard by the outbreak, such as the UK or ltaly,
is expected to be slow.

The travel industry in UK has been badly damaged, with airlines cutting flights and
customers cancelling business trips and holidays. New variants of the virus - discovered only
in recent months - have forced many countries to introduce tighter travel restrictions. The
hospitality sector has been hit hard, with millions of jobs and many companies bankrupt.
Data from Transparent - an industry-leading intelligence company that covers over 35 miliion
hotel and rental listings worldwide - has registered a fall in reservations in all the top travel
destinations.

The number of people entering retail malls has seen unprecedented falls as shoppers stayed
at home. New variants and surges in cases have made problems worse. Separate research

suggests that consumers are still feeling anxious about their return to stores. Accountancy
giant Emst & Young says 67% customers are now not wiling to travel more than 5
kilometres for shopping.

Source: BBC, January 2021
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Suggested Answers

| (a) | With reference to Exiract 4 and Table 2:

U]

Identify one country that is the most resilient in 2020 despite being hit by
the coronavirus pandemic and give a possible reason why.

Switzerland [1]

Any one [1]:

e Switzerland has a ‘diversified economy’ and ‘relatively iow reliance on
hospitality and entertainment’ which are most affected due to the
pandemic.

o Switzerland has 'significant fiscal space to support households and

firms’.

2

(i)

Explain the effect of a change in Resilience Index on material living
standards from 2019 to 2020.

From Table 2, Resilience Index falls for all countries. This means that
“households grapple with lower incomes” (Extract 4) due to Covid-19 and
thus have lower purchasing power and fall in material SOL.

[1] Change in resifience index
[1] Evidence
{1] Fall in material SOL

(b)

(3]

Using a production possibility curve diagram, explain the impact of the
pandemic on UK'’s economic growth.

Impact on UK’s economic growth [2] i

e Fall in export revenue due to travel
restrictions and thus fall in flights and
holiday reservations (Extract 5) fall in
production of goods  fall in actual
growth

e Fall in consumption expenditure due to
lockdown thus consumers stay at
home more and shop less (Extract 5)
fall in production of goods  fall in actual growth

PPC diagram [1]
o Movement of point A to B within PPC as shown in Figure 1

[3]

{c)

With reference to Extract 6, explain how the “Danish krone underwent
pressure” before the coronavirus crisis.

Prica of Danish Krome In

e Higher interest rate overseas greater i umm
rate of returns [1]

e Speculators seek short term capital
abroad hot money outflow from
Denmark [1]

4]
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rise. Whether or not UK should adopt fiscal or monetary measures
depends on the limitations each measure brings.

Explain how fiscal measures can address Generat
. Wi h Pricejlovel

¢ Supply-side measures Extract 7:
“,..British government’s plans to protect
the economy is its pledge fo pay 80% of  “Eg——""_
wages if staff are put on leave rather
than let go.” reduce COP SRAS rise ° ¥t National
from AS, to AS, in Figure 4 RNY rise ey T
fromY,toY, actual growth

o Extract 7: “We will build the hospitals, build s,
the schools, the colleges,” rise in G on
infrastructure rise in AD from AD, to AD,
in Figure 5 RNYrise from Y to Y,
actual growth

AS

e Strain on government budget (Extract 7: "huge amounts of fiscal ...
stimulus”)  crowding out effect and opportunity cost of government
spending on other areas such as healthcare and education.

¢ As the building of infrastructure takes time, there is a time lag as to
how fast growth can be observed. With a recession, this may not be
ideal.

Extract 7: “Bank of England slashed Bank Rate to a record low of 0.10%,
restarted its quantitative-easing programme...made the government’s
transaction account limitless until (so far) the end of the year, ... UK
government can - literally — print its own money” expansionary
monetary policy increase money supply from M, to M, in Figure 6
lower i/r from Ryto R,
o lower cost of borrowing increases expected profitability resulting
in an increase in investments from I, to |, in Figure 7
e encourages consumption as consumers may now choose to save
less instead due to the lower returns on savings

The rise in investment and consumption expenditure rise in AD from
ADyto AD, in Figure 5 RNY rise from Y,to Y, actual growth

Limitations of monetary measure

e Consumers may not spend despite iower cost of borrowing (Extract 5)
since new variants and surges in cases made more to rather stay at
home (Extract 5) so this will not substantially boost C to boost growth.

e liquidity trap since BOE slashed Bank Rate to a record low of 0.10%
(Extract 7) where with further it M oMM
increasing money supply from M, to
M, in Figure 8, there will be no change

in i/r resulting in no change in C & | s l
resulting in no change to AD and o e it
growth.

Conclusion

[Stand] UK should adopt fiscal measures to address economic downturn
arising from the COVID-19 pandemic.

[State of economy] Inflation rates are forecasted to rise  limits the
extent to which Bank of England can reduce interest rates without
worsening inflationary pressures. Fiscal measures, on the other hand,
can increase SRAS thereby having the added benefit of addressing the
rising prices.

EEEN Aol BRI Arke) .2},

L2 | e AQuestion requirements are interpreted accurately
explaining how both fiscal and monetary measures
work to address economic downturn and its
limitations.

e Appropriate economic concepts, theories and
principles are used. Economic analysis is accurate,
complete and well supported by contextual evidence.

e Appropriate diagrams are used to support economic
analysis, where relevant.

L1 | e Question requirements are interpreted inaccurately. 1-4
e inappropriate economic concepts, theories and
principles are used. Inaccurate economic analysis.

e __Inappropriate or wrong diagrams are used.

E | Evaluative comments are well-explained and supported | 2-3 |
by economic analysis.

Unexplained evaluative comments. 1

10
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Figure 2: Market for high-end smart phones

e As shown in Figure 2, demand for normal necessities will decrease more than
proportionately and demand curves shifts less to the left from Do to D1 to a large extent.
Thus, price will decrease from P, to P, and quantity will decrease from Q, fo Q,. This
leads fo a large decrease in total revenue from 0P,E,Q, to OP{EQ; .

e As demand is income elastic for high-end smartphones, the revenue for sellers in
Singapore will decrease significantly with the decrease in incomes.

e Revenue will increase for smart phones with negative income elasticity demand values
ie. YED <0.

e For low-end smartphones that are considered to be inferior goods, demand for these
goods will increase when there is fall in income in Singapore. As shown in Figure 3,
demand for inferior goods will increase and there is a rightward shift in the demand curve
to the right from D, to D,. Thus, price will increase from P, to P, and quantity will
increase from Q, to Q.. This leads to an increase in total revenue from OP.EQ, to
0P:EQy.

Price

Fig 3: Market for
low-end smartphones

e Thus, for low-end smartphones which are inferior goods, revenue will rise with the
decrease in income.

Conclusion

In summary, revenue earned by sellers in Singapore of smartphones with YED>0 will likely to
fall while the revenue on goods with YED<0 will likely to increase following the fall in the
incomes.

Mark Scheme:

- ::.Nm_w&mq is 3_a<u=.z»o; nmom»_ol ....wn:.i:.m:.w m\ma covers mvcagma‘

breadth:

Explain how YED makes a difference to direction and extent of change in

demand and change in TR for different type of goods. Answer has

sufficient depth:

o rigorous and detailed economic analysis that demonstrate strong
understanding of how different YED values affects total revenue

o relevant and precise use of economic concepts (TR)

o relevant and clearly-labelled diagrams to support economic analysis

Answer is relevant to the context of the question and applies real-world

examples to support the analysis.

L2

Answer is mostly relevant to question requirements

o e.g. incomplete explanation of 2 possible types of goods (max 7m)
o e.g.one good explanation of 1 type of good (max 5m)

Economic concepts are relevant but may contain minor inaccuracies.
Economic analysis is accurate but incomplete or lacks precision.
Attempits to address the context of the question but is incomplete.
Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.

L1

Answer is mostly irrelevant to question requirements.
Economic concepts are largely irrelevant and/or inaccurate.
Unclear and/or inaccurate economic analysis.

Lacking in use of diagrams or wrong diagrams are used.

More papers available at www.testpapersfree.com



BP-~459

0} pes| jim siy ) “saoud saybiy Joy Bupise ale susonpoad ‘awy swes ay) )y ‘saoud seybly
1ayo o} Buym aq (M slewnNsuod ‘puewssp ssa9xe auj Jo pu Jeb o] “IP'D jo abeuoys e

0 41 §
-a10deBUIS Ul 91SL|SUl SLUOSU| §1 PUBLISP IOy} B18yM Bupyeasn palddns Anuenb spesoxe papuewsap Apuenb 4 ‘soud wnuqiinba ‘e syl iy e

sauoydpews pua-piu 4oy Aipuenb wnugnba ul (jes e pue soud wnuqnbe Ui esesIou

ug uj JNsal |jm SaWod) Ul jje) pue uoponpoid JO }S00 Ul 9SU B JO JOBYe pauIquiod 3y e uononpoud §o }s09 uj asu e o} anp sauoyduews jo Ajddng uj jjed :p aunbig

Oyl
SIUOAIEWS PUsS-plul AJSES55U 0] TSWIElN Ayueng < w g_v 0
3] H
1) 0} %D wioy Ayuenb Ve
wnyugyinba ul ey Aenuyep B pue ‘g4 0} ° woyy soud wnugynbe ui e} ® aq pjnom g \ o
109))9 |[eJon0 ay) pue Aiddns uf jjej ay) ueY} S10W |fe) |IIM PUBLLBD dY) 'SSed SIY} U] e ' d
: Y L
sauoyduews pua-ybiy 10} 3axseW 10} 393449 pauiquio) G ainbiy d
0: [? 0’ T
&so 0 2 0 s ;
i | ‘s adud
i )
‘q ! ' v anbly ui '
1 0} 9g woyy aAno Ajddns auj Jo Ylys piemya) e Ag pajessn si uoonposd Jo Jsoo uj sy e
! 'd -esodebuig
||||||| o uj sauoydpews jo Ajddns ul aseanap e U Jnsal {im uogonposd Jo JSOD U) BSH Y e
0,
11
Ss Apog
auy
‘sauoydpews pua-ybiy snounxn|
Jo} *Q 0} °q wol Ya) ay) 0} 2AIND puewap ay) Wi jje} oyeuoiodosd uey) si0w e o) pes| “SOUOUAEWS
{Iim SBWO0DUL U |} ‘awy) awses sy} 1y ‘+S 0) °S wol sano Alddns ay) Jo Jiys psemye| e Aq pue-ybly pue pus-plu ‘pus-moi jJo Ajuenb pue soud sy} SPOyE BWOSUl Ly

pajessn||i si sdiyo 0 s)s00 Buisi 0} anp uononpoid O 109 Ul asi B ‘Mojeq G aInbi4 woi] e
-alodeBulg uj o)jSEj® WO S| puBLWSp
Jlay) aiaym sauoyduews pus-ybly 10} Anuenb pue soud wnuqunbs ul (e eyuyep

Jies e pue uoponpoid Jo 1S02 8U) Ul 8sealoU) Ue Moy ujeldxs o) psjoadxe ale suepn)S

More papers available at www.testpapersfree.com

B U] }nsal (|Im Sawodu| U] |jey pue uonanposd Jo JS00 Ul SSU B JO 0840 peulquiod 8yl e sisdoufg
aJodebuis u) ssuoydpews Jo sadA} Jualaiip 1o} s}eNIep xaRU0H
SIUSUANEWS PUS-UBIY AINXN] 167 YoNIel Anuenb pue ao1d Uo sytys pauiquiod Jo sjoedu| jusnuo)
(4omsue pepis-g) ssnosiq puewiwo)
a1odebug uj sjonpoid sauasolb jo sadA) Juasayip T T—— -
J0 Apuenb pue aoud ay) uo sabueyd g ssauy) Jo sjoedw aigissod auy MOYS O} PaISPISUCD opsany.

8q (M SOsed BUIMOI(0} By} ‘puUBLIBp Ul 8SESI08p IO 9SEaioul Ue Isylle 0) pes| ueo

sewoous uj [jey e pue Ajddns uj ey B O} Pes) [iM UONONPOLd JO JSOD Ul SSU B JeY) USAS) e %(q) ved 4o} Jemsue paysebbng

-asodeBulg ut seuoydiews Jo sadAj jussepip Jo Aiuenb pue soud
[s1] @y uo sebueyo asay) ylog jo peduy peuiquiod Ay syl ssnasiq (@) |

‘asodebuig ul sauoyduews

jo (‘D 0} °p) woy Apuenb wnuqyinbs uy ey pue (*d ol °q woy) soud wnugynbe
ui @seelou] ue o} pesj [ uononpold Jo 300 Uu) asu e jo oedw) oy} ‘snqued suslen e

(‘D) pejoesuen Anuenb wnugynba Jemo) pue (‘4) aoud wnuqyinba seybiy auyy

1e sjoasia)ul Jo A|ddns msu pue puewsap o) uaym dojs pue anupuod jpm sseooid siy)

‘sasy payddns Ayjuenb ajum sjiej pspuewsp Ajjuenb pue seoud uo ainssaid piemdn




BP~460

e From Figure 6 below, a rise in cost of production due to rising chip prices is illustrated by
a leftward shift of the supply curve from S, to S,, At the same time, fall in incomes will
lead to a less than proportionate fail in the demand curve to the left from D, to D for
necessity mid-end smartphones.

Price

Figure 6: Combined effect for market for necessity mid-end smartphones

e In this case, demand will fall less than the fall in supply and the overall effect would be
an increase in the equilibrium price from P, to P, and a fall in equilibrium quantity from
oc to DT

For inferior low-end smartphones, the combined effect of a rise in cost of production and
a fall in incomes will cause a rise in equilibrium price of the goods. However, the
combined effect on overall quantity of low-end smartphones which have negative income
elasticity of demand is indeterminate. it depends on the magnitude of the shift in demand
and supply curves.

1:

e The combined impact will result in an increase in equilibrium price and quantity for
inferior goods when the effect of recession is greater than the increase in cost of
production.

e As shown in Figure 7 below, a rise in cost of production is illustrated by a leftward shift of
the supply curve from S, to S,, At the same time, fall in incomes will lead to a shift in
demand curve to the right from D, to D, by a larger extent. The overall effect on quantity
would be a definite rise in equilibrium price from P, to Py and a rise in equilibrium
quantity from Q, to Q. (Draw the diagram)

Price

Figure 7: Combined effect for market for Inferior low-end smartphones where
effect of recession outweighs rising costs

e Justify why such a situation could happen (e.g. the effect of a global recession could
outweigh the rise in cost of production as the recession affects many sectors whereas if
the rise in cost of production came from the rise in cost of procuring smartphones chips —
it would only affect costs in the smartphones industry)

s Thus, the overall impact of both changes will lead to a rise in overall quantity of low-end
smartphones when the rise in demand is greater than the fali in supply.

Case 2: Increase in demand less than the fall in supply

e The combined impact will result in a rise in equilibrium price but a fall in overall quantity
for inferior goods when the effect of recession is smalier than the increase in cost of
production.

e As shown in Figure 8 below, a rise in cost of production is illustrated by a leftward shift of
the supply curve from S; to S,, At the same time, fall in incomes will lead to a shift in
demand curve to the right from Do to D1 by a smaller extent. The overall effect on
quantity would be a definite rise in equilibrium price from P, to P, but a fall in equilibrium
quantity from Q, to Q.

Price

]
1 i
\ " D4
i >
0 Q1 Qo Qty

Figure 8: Combined effect for market for Inferior low-end smartphones effect of
rising cost outweigh the effect of recession
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2022 JC2 H2 Econs Prelims Suggested Answers for Paper 2_Section A_Q2

2

Established carmakers around the world are ripping up their business models
in the hope of adapting to a new world in which electricity replaces gasoline
and diesel. Factories are being overhauled to produce electric cars, and
automakers are shapping up every battery they can find. The high cost of
developing electric cars is forcing some companies to find partners and turning
others into acquisition targets.

Source : CNN: August 2019

(@) Explain how the market structure in which established car makers
operate is likely to influence how prices are determined.

(bi) With the increasing competition from the established car makers, discuss
the strategies that the electric car makers can adopt to increase their
profitability.

Suggested answer for Part (a):

[10]

[15]

Command Explain how

Content Market structure, oligopoly, price determination
Context Established car makers
Synopsis:

Students are to expl

competitive advertising.

how established car makers which are oligopolistic in nature seek to
maximize profits, their high interdependence resulted in rigid prices and may formally or tacitly
(by an unspoken agreement) collude by watching each others’ prices to avoid price wars or

Introduction

Established car makers are oligopolistic

o Established car makers are ofigopolistic in nature.

e Oligopolistic firms seek to maximize profits, do not engage in price competition and may

collude to increase market power.

e Few large firms measured by concentration ratio

e High barriers of entry; high cost of R&D and manufacturing, large land/factory space

required.

o interdependence between firms. When a firm wants to change its price or output, it will
consider the other firms’ possible reactions before actually proceeding with the change;
different car brands charge similar prices for cars in the same range.

Tacit col opolistic fir|

e Established car makers can also tacitly (by an unspoken agreement) collude by watching
each others' prices to avoid price wars or competitive advertising. This leads to various
types of price leadership behaviours:

» Dominant price leadership - this is where firms choose the same price as that setby a
dominant firm (leader) which is usually the largest in the industry.

-|_=.:mw_mcamwo&.?mu:om_mm..._m_.i___mm::ﬁ.m?msm;m”u:ma=o<§mm:ana..?mm
its demand curve and MR curve. To maximise profits, the leader will produce where
marginal revenue is equal to its marginal cost (QL) and charge a price (P).

o At this price the market demand would be at QT. The followers would therefore supply the
portion not supplied by the leader i.e. QL — QT at the same price (P). This theory assumes
that all firms want to maintain a constant market share and therefore, follow all price
changes.

o Barometric price leadership — this is where the price leader is one whose prices reflect
market conditions in the most satisfactory way. This may be a smaller firm.

Pri qid i lusi " listi ket
e Price rigidity in an oligopoly market structure can be supported by the interdependence
between firms. Since rival firms only match price decreases and not price increases, firms
initiating a price cut or raising prices will experience falling total revenue. Thus firms will be
reluctant to change current prices, leading to price rigidity.
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e Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.

L1

Answer does not include how a non-coliusive oligopolistic firm set price. 1-4
Answer is mostly irrelevant to question requirements.
Economic concepts are largely irrelevant and/or inaccurate.
Unclear and/or inaccurate economic analysis.

t.acking in use of diagrams or wrong diagrams are used.

(b)  With the increasing competition from the established car makers, [15]
discuss the strategies that the electric car makers can adopt to
increase their profitability.

Suggested answer for Part (b):

Question Analysis - -

Command Discuss (2-sided answer)

Content Strategies to increase AR/MR or decrease AC/MC
Context Electric car makers

Synopsis

Students are expected to provide an analysis of one strategy each to increase AR/MR
and decrease AC/MC for the electric car makers.

e Mergers, especially horizontal mergers, are a characteristic trait of oligopolistic

industries. Intense competition and interdependent decision-making encourage
oligopalistic firms to cooperate. One way to lessen the competition among an
oligopolistic rival is to join forces through a merger. The merger also reduces costs as
the firm experience greater internal economies of scale.

Although mergers may lead to lower prices due to lower cost, consumers may lose out in
terms of less variety of goods. In addition, the merged firm may grant the firm larger
monopoly power and result in the firm exploiting the consumer in the long run in terms of
higher prices.

Diagrammatically, this is represented by an outward shift of the demand curve from D, to
D, as seen in the figure below. Assuming cost remain constant (this simplifies the
analysis significantly), the profit maximising level of output where MC = MR will increase

Price, Cost,
Revenue

A

from Q, to Q, and the profit maximising price will increase from P, to P,. This results in a
change in profits level from a subnormal profits of C,abP, to supernormal profits of
P,efC,,

Product differentiation is a non-price strategy where an electric car maker seeks to
differentiate its product from its rivals’. By differentiating its product, the firm can potentially
enjoy greater market share and market power by catering more to the needs of consumers.
The aim of product differentiation is to further develop or highlight the differences between
the products of a firm and its rivals.

o]

[o]

For example, electric car makers can carry out advertisements by engaging social media
influencers on Instagram to conduct promotional campaigns. This will help to create
brand loyalty and to appeal to consumers when they see their favourite celebrities
endorsing a certain product.

Additionally, firms can also conduct research and development to enhance the car
features.

Diagrammatically, this is represented by an outward shift of the demand curve from D, to D,
as seen in the figure below. Assuming cost remain constant (this simplifies the analysis
significantly), the profit maximising level of output where MC = MR will increase from Q, to
Q, and the profit maximising price will increase from P, to P,. This results in a change in
profits level from a subnormal profits of CgabP, to supemormal profits of P.efC,.

Price, Cost,
Revenue

 §
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Economic concepts are relevant but may contain minor inaccuracies.
Economic analysis is accurate but incomplete or lacks precision.
Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.

L1

Answer is mostly irrelevant to question requirements.
Economic concepts are largely irrelevant and/or inaccurate.
Unclear and/or inaccurate economic analysis.

Lacking in use of diagrams or wrong diagrams are us

i

ed.

Largely unexpiained assessments.

Unexplained assessment or one that is not supported by analysis.
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to another. As an economy progresses, there is a shift in the type of industries. A developed
economy may shift to focusing on service sector because of a decline in its manufacturing
industry due a loss in comparative advantage. Although there are employment opportunities in
the service industry, workers lack the skills and so are not able to switch jobs immediately. They
are then structurally unemployed.

Conclusion

Hence, due to imperfect information and labour immobility, inefficient allocation of resources
occurs. Therefore, government will need to intervene to correct the market failure.

Mark Scheme:

oW/| ! {
e Answer is relevant to question
breadth:
o Explain how imperfect information and labour mobility lead to market
failure.

o For L3-9: imperfect information + geographical immobility +

occupational immobility
¢ Answer has sufficient depth:

o rigorous and detailed economic analysis that demonstrate strong
understanding of how imperfect information and labour immobility
result in deadweight loss to society.

o relevant and precise use of economic concepts (cost/benefit analysis)

o relevant and clearly-labelled diagrams to support economic analysis

e Answer is relevant to the context of the question and applies real-world
examples to support the analysis.

L2 e Answer is mostly relevant to question requirements 5-7

o e.g. incomplete explanation of imperfect information and labour
immobility only (max 7m)

o e.g. one good explanation of either imperfect information or labour
immobility only (max 5m)

Economic concepts are relevant but may contain minor inaccuracies.

Economic analysis is accurate but incomplete or lacks precision.

Attempts to address the context of the question but is incomplete.

Relevant diagrams are used but might not be accurately explained or

applied to support economic analysis.

L1 e Answer is mostly irrelevant to question requirements. 1-4
e Economic concepts are largely irrelevant and/or inaccurate.

e Unclear and/or inaccurate economic analysis.

[

Lacking in use of diagrams or wrong diagrams are used.

3 (b) Discuss the policies governments can adopt to correct these causes [15]
of market failure.

Suggested answer for Part (b):

Command Discuss (2-sided answer)

Content One policy to correct imperfect information and one policy to correct labour
immobility

Context Any relevant context for imperfect information and labour immobility

Synopsis

Students are expected to provide an analysis (with limitations) of one policy for each type of

market failure that they have explained in part (a).

Introduction

e To deal with imperfect information, government could regulate by introducing specific
product standards or educate.

¢ To improve occupational mobility, the government may alter the educational system or
encourage workers to retrain for jobs where the demand is higher.

s To improve geographical mobility, the government may improve the road and
transportation networks across the country.

Some sellers may misrepresent their products to increase sales. To protect the buyer, the
government may require that producers print certain required information on the packaging of
certain products or on their company or product website. In an effort to keep the consumers
more informed of the product they are buying, the regulatory body requires warnings label
pertaining to potential hazards or side-effects be clearly printed or communicated to consumers.
Such efforts would inform consumers of the true costs or benefits of the choices they make and
hence eliminating the perceived and actual cost or benefits gap.

Examples:

. Health Ministry requires cigarette packages to contain explicit warnings on the harmful
effects of smoking on the organs of the consumer. Such efforts may have the effect of:

o Making the smoker see that the actual private benefit of smoking is lower than perceived
thus reduce one’s smoking of cigarette to Qactual OR

o Making the smoker see that the actual private cost of smoking is higher than perceived
thus reduce one's smoking of cigarette to Qactual.

[¢] Smoking cigarette at Qactual eliminates deadweight loss area ABC.
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labour. To reduce capital immol

y, governments can target certain sectors and encourage

firms to purchase capital goods by giving them incentives via tax cuts or subsidies.

Evaluation:

Advantage:

Workers do not have to incur high cost of relocation to find a job.

Disadvantage:

High expenditure by government to encourage firms to spend on capital goods by giving them
subsidies.

Evaluative Conclusion:

[Stand] Policies proposed to solve imperfect information and labour immobility will differ
depending on the state/characteristics of the economy.

Overconsumption of vices such as cigarettes due to imperfect information may be a different
problem when in a developing nation rather than a developed one. Patterns of smoking are
different in developing and developed countries: more men (50-60%) but fewer women
(2-10%) smoke in developing countries compared with developed countries, where
approximately 25-30% of both men and women smoked. Policies aim at educating the
masses may work better in a developed nation while policies targeting the male smokers
may be a better solution in a developing nation.

Labour immobility in a large economy such as China will be harder to solve compared to a
small economy like Singapore. For one, geographical immobility is almost non-existent in
Singapore given our small land size. Alternating educational system to solve occupational
immobility will be a harder task for a larger economy such as China compared to Singapore
due to her larger population, differing labour needs in different states and the requirement of
a much larger budget.

Mark Scheme:

WL

ant to armmn_os requirements and covers sufficient

breadth:
o explains one policy with limitations for each type of market faiture.
o Answer has sufficient depth:
o rigorous and detailed economic analysis that demonstrate strong
understanding of the how the policies correct the market faiiure
o relevant and precise use of economic concepts (cost/benefit
analysis);
o accurate and clearly-labelled diagrams to support economic analysis
e Answer is relevant to the context of the question and applies
real-world examples to support the analysis.

L2

e Answer is mostly relevant to question requirements. 5-7
e Economic concepts are relevant but may contain minor inaccuracies.
e Economic analysis is accurate but incomplete or lacks precision.

o 2 distinct policies (e.g. on imperfect information and only

occupational immobility), but analysis is incomplete (max 7m)
Attempts to address the context of the question but is incomplete.
Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.

L1

E3

Evaluative assessment based on economic analysis.

Answer is mostly irrelevant to question requirements.
Economic concepts are largely irrelevant and/or inaccurate.
Unclear and/or inaccurate economic analysis.

Lacking in use o diagrams or wrong diagrams are used.

o
E2 lained assessments. 2-3
E1 Unexplained assessment or one that is not supported by analysis. 1
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o SRAS falls from SRAS, to SRAS,, RNY falls from Y, to Y, --- recession.

Body 3: Explain how pandemic has caused business closures --- reduce LRAS ---
reduce potential growth

o Due to travel restrictions and gloomy global economic outlook, low expected retumns
on investment will lead to a fali in investment expenditure. At the same time, outflow
of foreign direct investments (FDI) either back to home countries or other low cost
countries will result in fall in quantity of capital goods when specialized machineries
and equipment are transferred out of the country. The fall in quantity of capital goods
will reduce the productive capacity of the economy, ceteris paribus, adversely
affecting the potential growth.

Body 4: Explain and illustrate how the pandemic will lead to wage differential

e As workers work from home and the increase in demand for online purchases, there
is a significant increase in demand for IT professionals to support the industry. As
labour is a derived demand, the increase in demand for online platforms for work and
new consumption behavior leads to an increase in demand for IT professionals from
D, to D,. This causes a shortage at the original wage rate W, exerting an upward
pressure on the equilibrium wage. The market for IT professionals will reach an
equilibrium at W, where there is no more shortages as the number of IT
professionals employed increases from Qg to Q.

e Restrictions on labour movement and reducing need for travel to work has reduced
the demand for physical retail and food & beverage (dining-in) services. Hence, the
sharp fall in demand for workers in the retail and F&B industries. Also, the restrictions
on international travel has also reduced the demand for tourism related services such
as aviation, hotels, entertainment and recreational services. The impact on the
service industry which employ a large number of workers will cause a significant fall
in demand for workers in the service industry as shown by the fall in demand from D,
to D,. This will lead to a surplus of workers at original wage W,, exerting a downward
pressure on their wages till a new equilibrium wage is reached at W,.

Wage Wage
9 A So n=
Wi ool So
Wo {-===-=
:
' H Do
o D1 '
m ! Do R m D1 R
Qo Qu Number of IT Qe Number of retail
Professionals and F&B workers

e Hence, the increase in wages of workers in the iT related industry and the sharp fall
in employment and wages of the service industry will hinder government's aim of
achieving inclusive growth.

s Answer is relevant to question requirements and covers sufficient

breadth:

o Explains the effect of the pandemic on AD, AS and respective
labour markets.

Answer has sufficient depth:

o rigorous and detailed economic analysis of the cause-effects link
on how the pandemic cause a fall in AD and AS; DD-S8S
analysis on respective labour markets.

o relevant and precise use of economic concepts (AD/AS & DD-SS

analysis)

o relevant and clearly labelled diagrams to support economic

analysis
e Answer is relevant to the context of the question
s Answers that covered only AD or AS with labour market analysis —
max 8m

L2 o Answaers that covered only AD or AS with labour market analysis 5-7
but with minor inaccuracies, incomplete or lacks precision.
e Attempts to address the context of the question but is incomplete.
¢ Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.
o Insufficient breadth/scope (max 5m):
- Answers only focus on labour market / structural unemployment
to illustrate wage differential without linking to economic growth
- Answers that only illustrate impacts on economic growth without
labour market analysis

L1 Answer is mostly irrelevant to question requirements. 1 -
Economic concepts are largely irrelevant and/or inaccurate. 4
Unclear and/or inaccurate economic analysis.

Lacking in use of diagrams or wrong diagrams are used.
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Income:

Limitations and trade-off:

Limitations: These expenditures on infrastructure takes time to complete and effects
will only be seen in the long-run.

Trade-off: Similarly, such expenditures incur opportunity costs as expenditures in
other areas of economic development would have to be forgone.

Body 3: Supply-side measure to improve wages of workers in retail and F&B industry

The government can encourage the training of labour by subsidising training costs
and by providing training institutes. This helps to raise the productivity of labour (and
hence quality of labour), raising the productive capacity.

Skillsfuture credit of $500 and a further top up of $500 in 2020, aimed to encourage
Singaporean to upgrade their skills.
In addition to the training grant provided, SkillsFuture also provides the resources
and information for all Singaporeans to develop new skills, continue their education
and fraining so that they can improve their skills and incomes throughout their
careers.

With the grants on skills upgrading and curated training courses based on the needs
of the economy, especially in digital literacy and proficiency, workers in the service
industry will be more productive and can better meet the skills requirement of the
new economy. These workers will see an increase in their wages that commensurate
with their productivity, narrowing the income gap which enable the government to
better achieve inclusive growth.

Limitations and trade-off:

Limitations:

Effects of training is uncertain as the completion of these training courses do not
ensure that these workers have achieved an acceptable level of proficiency to be
assured of employment in these new growth areas.

Due to the rapidly evolving digital and technological sector, it might be difficult for the
government to identify the skillset required for the future economy. Hence, the current
training courses might become redundant when the needs of the economy changes
again.

Conclusion: [Evaluative judgement]

e [Stand] Supply-side measures that target skills upgrading and better skills and job

matching would be the most appropriate policy to tackle the structural changes
caused by the pandemic.

[Root cause] While the effects of these training courses would take time and might
be uncertain due to the constantly changing needs of the economy, regular
consultation with industries on the new job demands would help the government to
better design training courses that are relevant for the participants. Structural change
will be the new normal for most economies in the world in view of the rapid
technological advancements and globalization. Given Singapore’s reliance on human
capital, life-long learning and constant skills upgrading of the labour force regardiess
of skill level, is critical for the economy to maintain her competitiveness, and achieve
sustained and inclusive growth.

[Time period] In the short run, government assistance for the unemployed,
especially workers in the service industry, will be essential to prevent further widening
of the income gap. Such financial support would reduce the resistance of the

unemployed in undergoing skilis upgrading courses since the basic needs of the

families might be better met.

_Mark Scheme:

L3 Te ,>:miwq xm,m ,..m_o<w=».~o J_‘.mu:o:‘_d.‘.:t_..w‘ia:ﬁt and no<,m_.m m:ao_m.:ﬁ.

Economic concepts are largely irrelevant and/or inaccurate.
Unclear and/or inaccurate economic analysis.
Lacking in use of diagrams or wrong diagrams are used.

8-10
breadth:
- One policy to achieve economic growth (actual & potential) and one
policy to address income gap.
- Each policy must be evaluated (two-sided analysis)
e Answer has sufficient depth:
o rigorous and detailed economic analysis that demonstrate strong
understanding of how the policies work which include limitations
and/or trade-offs of the policies.
o relevant and precise use of economic concepts (AD/AS analysis);
o accurate and clearly-labelled diagrams to support economic analysis
e Answer is relevant to the context of the question and applies
real-world examples to support the analysis.
L2 | « Answer is mostly relevant to question requirements that covers 5-7
sufficient scope/breadth (policies that address both economic growth
and income gap). However, analysis may contain minor inaccuracies
with limited/inaccurate/incomplete evaluation of the policies.
e Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.
o Insufficient scope:
- For accurate and precise analysis that only address economic
m_.os;: or income gap with adequate evaluation of the measure (max
m)
L1 Answer is mostly irrelevant to question requirements. 1-4

E3 | ¢ Takes a clear overall stand that is comprehensively justified by { 4-5
providing convincing evaluative comments on the most appropriate
policy to achieve inclusive growth.
E2 | ¢ Takes a clear overall stand that is only partially justified and explained { 2-3
or the arguments were unconvincing and/or inaccurate at times OR
e Provides evaluative comments but overall stand is unclear OR
e Provides insightful opinions which are however not directly relevant to
the requirements of the question.
E1 | « Make an overall stand: Which is the most appropriate policy to achieve 1

inclusive growth?
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Mark Scheme:

breadth:

o Explains the negative microeconomic and macroeconomic effects of

inflation.

Answer has sufficient depth:

o rigorous and detailed economic analysis of the cause-effects link
on the microeconomic effects of inflaton on various economic
agents (households and firms). Use of AD-AS framework to
illustrate the macroeconomic  effects of inflation on
macroeconomic objectives.

o relevant and precise use of economic concepts (AD/AS analysis)

o relevant and clearly labelled diagrams to support economic

analysis

Answer is relevant to the context of the question

L2

Good accurate and complete answers that covered only
microeconomic or macroeconomic effect. (max 7m)

Answers that cover both aspects but with minor inaccuracies,
incomplete or lacks precision.

Attempts to address the context of the question but is incomplete.
Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.

Insufficient breadth/scope {(max 5m):

- Microeconomic or macroeconomic analysis with 2 distinct points or
- 2 distinct microeconomic and macroeconomic effects of inflation.

L1

Answer is mostly irrelevant to question requirements.
Economic concepts are largely irrelevant and/or inaccurate.
Unclear and/or inaccurate economic analysis.

Lacking in use of diagrams or wrong diagrams are used.

(b) Discuss the extent to which government's policy to tackle recession is to be blamed for

causing inflation. [15]

Suggested answer for (b):

Command Discuss the extent

Content Policy to tackle inflation; recession
Context Governments (no context)
Synopsis:

Students are expected to explain how expansionary demand management o tackle
recessionary might lead to an increase in GPL, causing demand-pull inflation. Limitations
(extent) of the use of demand-management policy that would cause inflation should be
analysed. Students are also expected to explain how other factors could have caused
inflation, such as expectations of an economic recovery that prompted consumers and
firms to increase consumption and investment that would lead to a inflationary pressure.
The most significant discussion will be how supply-side factors could cause cost-push
inflation, especially due to the supply-chain disruption and Ukraine war. A concluding
judgement must be provided by synthesizing the content of the analysis and ascertain the
extent of government's responsibility in causing inflation.

Introduction:

e Identity the policies governments can adopt to tackle recession (expansionary

demand-management policy)
o ldentify and define two types of inflation: Demand-pull and cost-push inflation

e Recognise that other than government policies, there could be other causes of

inflation.

Body 1: Explain how the use of fiscal demand-management policy to tackle recession

might cause demand-pull inflation

o Fiscal policy involves the altering of government expenditure and/or tax revenue to
affect the level of economic activities in the economy.

e Discretionary fiscal policy refers to the deliberate changing of taxes and government
spending especially for the purpose of regulating the level of economic activity in the
economy in order to influence national income.

o To address recession and slow economic growth, a government can employ an
expansionary fiscal policy by raising government spending and/or lowering taxes.

e Raising government expenditure on goods and services: Deliberate increase in

government expenditure (e.g. in the area of defence, education, healthcare) will raise the
‘G’ component of AD and cause the AD curve to shift rightwards.

Increase in Transfer payments: Transfer payments are money given by the government
to its citizens or firms with no goods and services returned in exchange. Examples
include unemployment benefits to households or wage subsidies to firms. They do not
directly lead to more output but influences the citizens' ability to consume due to an
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Conclusion: Evaluative judgement

e The causes of inflation that the world is currently experiencing are muiti-faceted. The

adoption of expansionary demand management policies by most of the economies in Mark Scheme:

the world could be partly responsible for the inflationary situation, however, to a
smaller extent.

[Context] While the global economy is still tackling the recession caused by the
pandemic, expansionary policies implemented by the major economies had been
successful in mitigating the economic downturn but yet to turn the tide against it.
Unemployment remains high in some of these large economies which could indicate
the limited role of government in causing the (demand-pull) inflation issues.
Moreover, governments are responsive to the creeping inflation that the world is
expetiencing and had adopted anti-inflationary (contractionary demand management)
policies. However, global prices continue to increase which warrant a call for further
policies tightening.

[Assumptions]The increase in AD due to reasons such as a positive economic
outlook that encourage investments might be limited as well. For the last 2 years, the
pandemic has dealt a severe blow to firms' profits resulting in down-sizing of large
corporations and closures of numerous businesses. The ability for firms to tap on the
early trend of economic recovery is highly dependent on the funds available which is
a luxury for most businesses.

[Stand] The increase in COP due to supply-chain disruptions has limited the
accessibility of essentiat factor inputs for firms which resulted in shortages and high
prices of raw materials and factor inputs. The Ukraine war has compounded the
issues of cost-push inflation with the sharp reduction in corn and wheat exports that
fuel food prices. Hence, the inflation experienced by most economies in the world is
mainly due to supply-side factors rather than the policies adopted by the
governments.

covers sufficient

breadth:

o Explain and evaluate the role of government in causing
demand-pull inflation with the use of any demand-management
policy analysis.

o Provide possible supply-side reasons to explain cost-push inflation.

Answer has sufficient depth:

o rigorous and detailed economic analysis that demonstrate strong
understanding on the effects of expansionary demand-management
policy on GPL and illustrations of cost-push inflation with the use of
AD-AS framework.

o relevant and precise use of economic concepts (AD/AS analysis);

o accurate and clearly-labelled diagrams to support economic analysis

Answer is relevant to the context of the question and applies

real-world examples to support the analysis.

L2

Answer is mostly relevant to question requirements.

For L2-7, answers should include illustration of expansionary policy
in causing demand-puli inflation with discussion on the extent of its
effect on inflation.

Economic concepts are relevant but may contain minor inaccuracies.
Economic analysis is accurate but incomplete or lacks precision.
Attempts to address the context of the question but is incomplete.
Relevant diagrams are used but might not be accurately explained or
applied to support economic analysis.

Ability to illustrate and evaluate the limitations of expansionary policy in
causing demand-pull inflation {max 6m)

L1

" Takes

Answer is mostly irrelevant to question requirements.

Economic concepts are largely irrelevant and/or inaccurate.

Unclear and/or inaccurate economic analysis.

Lacking in use of diagrams or wrong diagrams are used.

Limited breadth/scope (command word not addressed):

- Only illustrate how expansionary policy can lead to demand-pult
_inflation with the use of AD-AS analysis (max 4m

m.‘ clear overall stand that is oomr!.,m:a:uw«mz ?un._.amm u<
providing convincing evaluative comments on whether governments’
expansionary policies are largely responsible for the inflation.

Takes a clear overall stand that is only partially justified and explained
or the arguments were unconvincing and/or inaccurate at times OR
Provides evaluative comments but overall stand is unclear OR

Provides insightful opinions which are however not directly relevant to
the requirements of the question.
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2022 JC2 H2 Econs Prelims Suggested Answers for Paper 2_Section B_Qé

6. Most economies in the world are suffering from budget deficits and balance of trade
deficits for the past two years due to domestic and external challenges.

(a) Explain the refationship between a balance of trade deficit and a budget deficit.
(10]

(b) Discuss whether policies adopted by a government to reduce the balance of trade
deficit would worsen the budget deficit. [15]

Suggested answer for (a):

Explain
Content Relationship; BOT; budget
Context deficit
Synopsis:

Students are to explain how a fall in export revenue (X) and an increase in import
expenditure (M) that resuited in X>M (balance of trade deficit) can lead to an increase in
government expenditure (G) and fall in tax revenue (TYG>T)(budget deficit). Explain how
a budget deficit where G>T will lead to a fall in X and increase in M, resulting in X<M,
hence BOT deficit.

Introduction:

o Define balance of trade (BOT) deficit and budget deficit
e identify the factors that might cause a fali in X and increase in M which could also
lead to an increase in G and fallin T.

Body 1: Explain how a budget deficit might cause a BOT deficit

o Budget deficit arises when there is an increase in G and a fall in TwhichledtoG>T.

e Increase in G such as infrastructure development to raise the productive capacity of
an economy or increase in transfer payments to boost the disposable income of
lower-income households will increase their consumption expenditure (C).

e The fall in personal income tax will increase disposable income, hence purchasing
power of the consumers leading to an increase in C. At the same time, a fall in
corporate tax will increase firms' after-tax profits, increasing the investment
expenditure (1).

e The increase in G, C and | wi
multiplier process).

e The increase in RNY will increase purchasing power of the whole economy causing
an increase in demand for imports and hence, increase in import expenditure (M).

e Also, if the economy is near full employment level, the increase in AD will cause an
increase in GPL as the higher demand for resources accompanied by greater
scarcity of resources, will increase factor prices. The increase in costs of production

ncrease the AD and lead to an increase in RNY (via

will translate to higher GPL and reduce export competitiveness of the economy in the
next time period reducing the export revenue (X).
e Hence, an increase in M and a fall in X might cause X < M, leading to BOT deficit.

Body 2: Explain how a BOT deficit will cause budget deficit (due to automatic
stabilisers)

« Non-discretionary fiscal policy or automatic stabilisers:

-__Non-discretionary fiscal policy or automatic stabilisers refer to tax revenues that
rise and/or government expenditure that falls when national income rises (and vice
versa).

e The government expenditure and tax revenue balance depends on automatic
stabilisers which influence government spending or tax yields without the need for
conscious or deliberate government intervention. The two principal built-in stabilisers
are tax revenue from progressive income tax and government transfer payments such
as unemployment benefits.

e When there is a worsening BOT deficit, X will fall and M will increase. This will lead to
a fall in AD from AD, to AD,. With the fall in AD, it will lead to a multiplied fall in RNY
from Y, to Y, resuiting in a recession.

GPL

| S

AD
AR
Y Réal National Income

L

e When RNY falls, tax revenues will fail when tax payers eamn lower income and are
subject to lower tax rates. At the same time, the lower level of economic production
will reduce the demand for resources. Since labour is a derived demand,
unemployment rate will increase casing the amount paid out as unempioyment
benefits to rise. This will inevitably cause an increase in G and a fall in T (G>T)
leading to a budget deficit.

Mark Scheme:

LRI RN 4 ot A an s Pt R
e Answer is relevant to question requirements and covers sufficient | 8 - 10
breadth:
o Explains content (1) and content (2)
Answer has sufficient depth:
o rigorous and detailed economic analysis of the cause-effects link on
how a BOT deficit might iead to a budget deficit, vice versa.
o relevant and precise use of economic concepts (AD/AS & DD/SS
analysis)
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GPRL

The fall in RNY will reduce households purchasing power and hence ability to
consume imported goods reducing M.

With the fall in M, assuming no change to X, BOT deficit will be reduced.

Due to the fall in G and increase in T (due to more tax collection from income and
corporate tax) government’s budget will also improves.

AS

gl e

=

Body 2: Explain how the measures to reduce a BOT deficit might worsen the budget
deficit

o Supply-side Policies (To increase both SRAS and LRAS)

Government subsidies to lower the costs of production (COP) of the firms such as
wage subsidies, rental and utility rebates. By reducing the COP, firms will be able to
lower the prices of exports making them more price competitive in the international
markets encouraging foreign demand.

- __Government can provide research grants such as the Productivity and Innovation

Credit by the Singapore government. By subsidizing firms’ investment in R&D, this
will encourage firms to innovate in terms of product and process innovation. Product
innovation will lead to improvement in quality of the goods produced while process
innovation will allow the firms to produce at a lower cost resulting in more competitive
exports.

The increase in demand for exports will increase X. At the same time, domestic
goods be relatively cheaper and better than imports (assuming they are
substitutes) causing a fall in M. The increase in X and fall in M wilt reduce the BOT
deficit.

However, these supply-side measures to improve the competitiveness of domestic
goods require huge government funding worsening budget deficit.

Conclusion: [Evaluative Judgement]

e Both expenditure reducing and expenditure switching measures can be adopted to

reduce a BOT deficit. However, their effect on government's budget is highly
dependent on the following:

[Assumption] Use of tariff allows the government to collect more tax revenue.
However, if trading partners retaliate by imposing trade barriers on the exports, the
resulting fall in demand for exports might lead to high unemployment (for countries
highly dependent on exports). Similarly, contractionary FP will result in reduction of
RNY and production in the economy, increasing unemployment as well. The increase

in employment rate will increase government's spending on transfer payments to
support the unemployed which would worsen government's budget batance.

[Time period] Though supply-sidle measures might worsen budget deficit, the
benefits of these measures can improve the comparative advantage and productive
capacity of the economy. In the long run, the country is in better stead to achieve
sustained growth due to more competitive domestic goods and exports, and more
competitive investment climate to encourage higher level of investments in the
economy. The higher economic growth in the long run will atlow the government to
earn higher level of tax revenue from households and firms, and the higher
employment level will also reduce government's burden on transfer payments
improving the government’s budget balance.

Mark Scheme:

e Answer

is relevant to question requirements and covers sufficient
breadth:

o Explain expenditure reducing and expenditure switching
measures in relation to their positive and negative effects on
government budget balance.

Answer has sufficient depth:

o rigorous and detailed economic analysis that demonstrate strong
understanding on the effects of the measures to correct BOT deficit
and link to budget deficit.

o relevant and precise use of economic concepts (AD/AS; DD/SS;
tariff analysis);

o accurate and clearly-labelled diagrams to support economic analysis

Answer is relevant to the context of the question and applies

real-world examples to support the analysis.

Answer is mostly relevant to question requirements. 5-7
-For L2-7, answers should consist of a two-sided analysis (thesis &

- Complete and accurate one-sided analysis (max 5m)
Attempts to address the context of the question but is incomplete.
Relevant diagrams are used but might not be accurately explained or

L2 | e
anti-thesis) but with minor inaccuracies.
[ ]
.
applied to support economic analysis.
L1

N S LSO SO Sy

Answer is mostly irrelevant to question requirements. 1-4
Economic concepts are largely irrelevant and/or inaccurate.
‘Unclear and/or inaccurate economic analysis.

Takes a clear “overall stand that
providing convincing and synthesized evaluative comments on the
measures to correct BOT deficit and their effects on budget deficit.

Takes a clear overall stand that is only partially justified and explained | 2-3
or the arguments were unconvincing and/or inaccurate at times OR
Provides evaluative comments but overall stand is unclear OR

Provides insightful opinions which are however not directly relevant to
the requirements of the question.

E1

Make an overall stand: On balance, whether measures to correct BOT 1
deficit will worsen budget deficit.
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